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ATOvY
hhET—2 CHANCE THoF—L %5 B 4L
SYHRET LRI 06 16 02
bhiEv—o |zvorsIze 16 36 3
SYJRETIVAS 06 16
SYYRETILAI 60 6 1 9.0
CHANCE 2YHYRETILR2 61 6 1 1
SYYRETILRS 60 6 1
SYYRATILRI 6 1 16 i
THUoF—L  |399RFTLR2 63 16 2
SYHIRETILAS 61 16
BI7OwY
F—LCOCOL % A|We love practicds? EEFr>7—X] it 3E0e & 4L
SYYRETILRI 16 06 9.0
F—LCOCOLHA [3vIRFETILR2 6 4 63 1
SYYRFTILR3 6 2 6 2
SYHYRETILAA 6 1 16 .
We love practice |SvURFTILR2 46 64 92
SYYRFTILR3 26 6 4
SyHYRET LRI 60 6 1 0-2
BE2EEXVYOT—X|ZVIRETILAR2 36 46 3
SYHYRATILR3 26 46
coyy
TM7E—L BWELAX [F—LKOSD fs B g4z
SYYRETILRA 62 36 1-1
TM7E—L SYYRETILR2 63 6 2 2
SYYRFTTILR3 65 36
SYYRFETILRI 26 6 4 0-2
B EL A3 SYHRETILR2 36 56 3
SYYRETILRS 56 46
SYYRETILRI 63 46 -
F—LHKOSD [zvrRHETILR2 26 65 1
SYYRFTILAS 63 64
D7 Ovy
YaVYSvE | AY—FEEL | F—LBOSS fs B (L2
SYYRFETILRI 36 6 4 02
ROV Iyt |3vsRETILR2 16 26 3
SYYRFTILAS 06 16
SYYRFETILRA 63 36 9-0
SY—1=L SYHRETILR2 6 1 65 1
SYYRETILRS 60 6 4
SyHYRAT LRI 46 63 i
F—LBOSS |zvsR&FTILR2 6 2 56 2
SYYRFTILAS 61 46
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1 hiE~—2o
62.61.60
) “ 36.62.61
2 | BE?HEEXVYUTA—X
'iE ’?ﬁ.ﬁ%%—’v‘/
TA4—R
3 E4= D27k

56.61.63

1 F—LCOCOLEPBA
65.46.62
61.61.63
2 CHANCE
CHANCE
3 SY—f=
‘65.16.61
4 F—L%0SD
A b WV
1 THUF—L
61.62.64
64.63.46
2 We love practice
We love practice
3 F—LBOSS
l32ret.64.06
4 TM7E—L

4 BEL A X
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F— 1% 0SD 3.4 7 |CHANCE 1.2

E% #F KHA FEZ =R EfF B BEA
Xk BE 1E8k B8 LtHBF RS FH
R E4E KHE k% E ¥ N
F—LCOCOLpA 2122 8 |KELAX 7.8

PRE BT #E 1758 B EF = Ak
ER K BFIF ik HH ME ®F #O &R
B TF A R @B EF =R Eih
BWE2EBFUT—Z 19.20 9 |TM7E—L 15.16

=B BT EH B wE EA AR %
A EK BB A TR \FH XKiRA BN
B RF B BE H #F AR HEF
We love practice 9.10 10 |SY—FE 17.18

55 EflE 0B HES M H#E &F
BiE = mA Hif o ¥ B B
PNE L K D% EE HpH BE Mg
F—LBOSS 23.24 1M |hhiE<w—2 11.12

Kiq FF =it BAv S NI
#?AR @&F £H #E % pEE MRE
RE FHK fsRE Rl BHMNTZ B E—
zOVyovt 13.14 12 ([7HoF—L 5.6

FIE B RE BHR B BF WiE BN
N BE 2= = NEF Sl fEIE
2K MF HB)I &BA HEINEF ® =




